CRYPTOQUIP
ATXW BW LZZURXQ'T NBTY UT

YXXSUWF LQMXQ UW B NIQLWF
LZ SXLSDX, IX’T B QXBD

RQLAM-SLDURXQ.

Yesterday’s Cryptoquip: IF A POOCH WANTED
TO PLAY HIGH UP IN A TREE, WHICH KIND
DO YOU THINK IT WOULD PREFER? DOGWOOD.

Today’s Cryptoquip Clue: S equals P
The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues

to locating vowels. Solution is by trial and error.
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